SSC COMBINED GRADUATE LEVEL TIER-1EXAM

SECOND SITTING

Exam Held On : 16-05-2010

PARTA |
& REASONING
1 Eﬂbulummumwﬁpﬁ l.nd

hits ouse i 200 mistres dieay
themhmmaam

Is Rahim's neighhdi wnd hls |

Fitw e §a ocsab o] S00 midtres anay
in the south west direction: Gopal
Is Joseph's neighboor and he
stirys 200 mrires; away In the
south edal direction. Roy |8
Gopal's nejghbour nnd his
In Ipcaied 200 meires away in the
north east direction. Theny
ta the positien of Roy'a. b
retation |o Buti’e
] .“.-muhcaumsmmphr -
i Norh 141 North eas:

2. A group of friends are
an arrangement one each o
corner of an octagarn .ﬁhm fac-
ingg dhe centre, Mahims s siting
riagonally opposite Ramd| who i

on Suahma's right. Rnrl!inm ]

Mrl it

1o Sunhima and
who is on Cha
unﬁmﬂmﬂi‘
pmm Mho
I]I th

{3l Girdhar: ilm.

3, Acube has the follcwing figures
dmhm o [ts flve [uces. The Lop
surface is Blank, The <llipse s
becween the cross and the tr-
anghe. The square is on the rght
of the trimngle. The ellipse and
ihe seitare are opposite to each
ather, Which face s (he Mirele on?
1§ On the 10
(B Oppostte 1o = Hpae
i Opposite Lo Irfangle
(41 At the bittort .
Diroctioais (4 - 11) 1 lel each of

the fallowing questiors. selest the re-
lated word lelters/ number) figure
{rom the given aliermatives,

4. Fox : Cunning - : Rbbit : %

11} Courngeous (3 Dangesous

ﬂw

Thmid
Feroclous
¢ Riged : :
5

11 Diffidenee 12 Indiference
1| Cownribice (4} Scare
B8 AZCX : BYDW :: HQUO: ¥
(1) GRFP 2] IPHM
A K IPEN [4] GRJP
T2 QIOK ; MMKD ; : YAWG ; 7
1 USCA 2 UEBG

EQ

&

gi

{2} Electric Suitar
{3 Beyboard
(4] Sonat
4 (A (1
D ‘HE
18 (1) RAMP (2 JFEH
(3 RFOQ (4] HDCF
18. () AbodE (3 High
) Apipt. mnE

19, From amongst the ghoen alicma
thves select the one o whici (e
set of numbern is most Hke s
set of numbers ghen beloy
6, 14, 50
Tk 4. 18,28 @ 7, L2 22
(36 12 22 W6 L s

0. Whtch one of the gﬁnrrﬂu"r e
would be a meaningfull onlr o
Lhe lollcwing words
A Famiv B Communiy
C. Member: O Localihy
B Country a5
e, h,b 'ﬂs,x
€ A8 DK
26,4 BED

= n}t ADEH

I;_._.m:hr Tolborwing wores o
cordimg 1o the dlctionary
A TORTOISE
B. TORONTO T 'TORPED
D. TORLS E. TORSEL
(B ECAD
[ B.EC DA
HBCEAD
@B CEDA

2. Which set ol letters when s
qulEﬂl.Iiﬂ_l.' p&md il the gaps it
the given better serses shadl com
plete It 7

—a__aaaba —ba,_ ol
i1 mbeann |2 abankes
|4 mababa 4] ababas

Directions (23 - 37) 1 in cocliv|
the [ullowing questona, find Lhe: mi:
g number fleties Tigure from 1

Eiven responscs |
Marceel g .
Wl xz 12 w1
13} w. y 4] v b
34 N, PSVYB. EHENG, TWZLCF

[LC¥RL

1] BEHEN  [2] ADGIM

3 SVYBE  [d4] ZCFIL
28 0, 4 18 48 7 180

1 58 i3 68

|31 B4 4 100
B 36 28 24 22 7

1] 18 218

32k xR
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2700, 9, 1% 81,39 7

11} BA [2h 63

14 G4 4 7

Setect the nunber which dogs

NOT helang Lo Wve gven series |

132, 349, 454, 564, 078

|1] €776 (25 454

[k [ 44 564

8. A s lefl with some dellnie nam-
her of passengers. AL the Qs
siop. half the passengecs lelt the
triis and 36 boarded e bnas: AL

28

1
the second stup - U ol L pas

sengers ket and 40 boarded the
ug Then, the bus moved with
50 passrngers Lowirds 108 desil
nation withoul SOpPIng any
where, How mnny passengers
were there orginally 7
(1E25 A0
R I 4 50

My, 1€ Lhie dhay dﬂrnunurnlﬂﬁ‘.&lln‘
dav, whial day was Im‘-'ﬂfl
lay Ttlare yeslerday ¥
[1F Fraday £ Thursday
1 Monday {41 Tuescay

1. A man s % veans oltber tan hig
wlbe amdd four Uinees ws oldd an his
ot 1F Uhe s becomes |5 years
alel after 3 yeurs, whaot s the
prosent age of the wile 7

il] A years (A 51 veard i

'Y 48 venry {-;I ih mm-\__

3 X und Y e B
:th;@&ts‘@hnm i
il I'rrr ! ,ﬁl.‘a. "leﬁ

TR
{1 Mather [ 'a‘mr::
L Sthede 4] Droter

;E:-ﬁ reabis ¥ ruﬂuahcali of Ashok
jn the class of 30 stidents, I
“Azhoks rank is AT from dhe
tast, whitl |s Suresh’s rank from

the siart?
111 16th (8 2ith
h d4ih 14 15¢h

. A word/dset ol lelizrs given dn
aprical betters w il ed by I'_LII.II
irpswer worrds, Ol ol thess oty

(i canmet be dormed by using |

Ubse betters ol the given word/ sel
o letters, Fini o thit wird

IR ETERMINATE

(i P DETERMINE

|2} RETINUE

|3y REMINDER

4] HETINA

® LA
it i gy
caiges e e e o

RAHKSES
12 8 & &
(51234 (Z)54213
[H532014 531324

38, A statement s given fallewed by
two assumgtions, (L and (3. You
luwe o consider Wb statement
b beg Lruse, ven il 4 seema (0 br
at variance from commonly
krown facis. You are lo decide
which of the g@iven assumplions
can difinttely be drawr ffom the
given statement, Tndicate your
m.'lu'l!‘!'
Slatement: Theorelical educa-
ﬂinﬂnnnu in. geonomic
mu H bends @b a

 steady loss of confidence and
nimiq';hlhtmm

11/ Only 1 s mpl

&onhriu tmphicil

[l Both 1| and 2 art mphcit

4| Both 1 and 2 are nat implei
37. Twn atwtements are gven followed

b [eiir conclusians; 111 T and

TV, Yo Harve: 1 comidar The state-

ments 1o be (ree. even I they

arem 1o be at variumes from dom-

menly knows, (80t You are te

decide which ol (he given con-

Clusions can definialy e drawn

froem Lhe given statements. (ndi-

Cate YU AREwer.

‘Starements |

14 fo cow s a chalr, ;

151 Al chabrg are Gabbes.

Conchalons :

| Some tables are chair

11, Sweme takries ane cows.

11l Some chalrs ane Cows.

IV, ey Lakle 16 0 cow,

| 1) Exther 10 a¢ B Bollow

(2} Elgher Il or [V [ollow

[ Cinly [ Bollows

{45 All conciuiskons follow

bt

38 [ HDHE-ET'I’ 18 wrillen s
and POVERTY s
7192088, how ls HORSE writien
In & destuin cade 7
1) s0124 1251042
& s {4] 52014
2. [n o certpin code SISTER i wrl
ien s RHRSDQ How 18 UNCLE
{1 TMBRD {3 TBMKD
i TYBOD |4 TMRBD
B4l = 3 63 =8, 425 -7
Lhen 21T =7
ia 7
e TR
AL, The lollowing equatiens fllow o
common property . Find ol (b
correct value (o complede D,
AsBE(TI4) 14 i
B = 6] (@5 15

C=71{T
i-z .
nm

D=8
(1
R 11346

\'i. s and =, 2 ol
* | Bwhiehone of the following stic
‘ﬁ‘ﬂlhﬁmmcﬂ‘mﬂq

M 15=2« 25+ 13=2

(M2e15+33=2-15
@B 6=t 110

Whitch st ol symibols can reglar:

L}

(HUR R Tt - R M
Bz oe,x - B R 48 x
44, Find the mussing number oo Uy

given rERpOnEes |

R
alal4
113|71
18727 | = |

114 121 5
13 3 |4 G

48 Peier walked 8 kms. west and
turmed right and wilked 25 &ms
The ugaln he lumed right wml
wilked 12 kms, How far |5 b
from the staming podnt ¥
s Il 8
4 4 14 8

8. Choose the oorrect fguse thiy
represents the glven relation
Blue eyed, femabes. docions

+(Q0



13|| '

HI @

47 ﬁm:n‘i.hr four answer
which figure can be I'mn
the cutpéeces given below in the
quiestion flgure ¥
Bucations Figuro :

™
-

Anrwer Figurss |

1 Uﬁ
1 E (41

w L

4. 1T the mirror is placed an the e
LM, then which of the answer lig-
ures b8 the right lmage of the
Wven question ligare 7

_m-{.,

48, How many Lriangles are there ko

the following figure ?
{1] 20 3 24
1 28 (4 32

B0. From the given anawer figurcs,
select the one in which the ques
ton figure iwhidden,/embedded
M-fu-l:

Anwwer Figares :

w® 5 )
i ]

ur(:E:E}

&

H'I"I‘-I

BL. Which of the loflowing Indone

slen réglons was 3 qrmﬂ.
stve enrthguake in 20
{1} irian Jaya (2} Huuu-l
B Kaltangen 8 dwva
BE. The alrgandionc |
i train was flageed of |
1] Seaddah=New Detil |
(2 Myl - Howrah ' |
[3 Bangabore - Howrah
4) Cherinal'= New Deihi
B Which ninbngithe fllowing agen

cies released the report, Eco
nomibe Dutlotile for 2009 10 7
(1} Planming Comemission
2} PM's Eeonomte Advisory
Council

13 Finanes Commission
[4) Ressrve Bank of India

Bd. Indis and U5 have decided 1o
finalise agreements relaied 1o
whiich of the loll owing?
{1} Trade and Investmant
{2 Inteflectual Property
{3 Tracttional Knowledge
{4 Al of the above

88 Which one of the lallowing slales
does nod form part of Narmads |
Tver baaln™
{11 Maditya Pracesh |

Iy

B8, Which ul the folluwing counioms
has recently Hecome the than)
largest wmarkel for Twiiter?

11} Chigra L&l Indiis
13 Brasll 4 Indomssu

', The sxchange of comamul i
ht[wtl‘ﬂ Ewir Counirics i
ferred as
(1] Balance of Lrade
& Bilatoral trade
13 Volume of trade
(4] Muttiateral trade

B8, Sodl ervsdon om hill slopes g e

checked by
L1 Aluresiaicn
[ Terrace caliivation
13 Sirip eropping
(4 Comtour ploughing
8. Who comed 1he word ‘Geoels
phy 7
(1) Prelemy :
&4 bl b i
1% Hacuiaus

. Hl Hemdalus

0. '#mchnl' the Flbowing IM.l.II--

 the "rordogical ot apod of Tndi
[ 1) Weatern (ihaa
&) Exmswrn Cihais
[N Weastern Himadayas
(4} Eantern Himalaas

. The arl and sclence of nugp ok
it ks called
(1] Remote Sensing
& Cartography
|8 Photogrammetry
4] Mapping

B3 The age of the Exrth can be o

Heer gl Ty

1) Genlogical Thine Scale
12 Radio-Metrc Tating
(3 Cravity method

(4 Fossslumton melhod

83, The monk whainfluenced Ashiok

iz embeace Buddhism waz

{11 Visharie Gupta

121 Wi Gangitan

13 Brahrma Gugta

{4} Bethadratha

The deClaration el Demsio

is a Covernment ‘af the peapil

by thve pesiopde; for the pesge win
made by

[1] George Washingtin

12 Winstan Chuchill

[ %) Aliraleim Lineoln

|4 Theadarn Ruosevels

B4



L

67,

T

7L

The Lol cymasty was founded

b'..'
11} Therwhim Lodt
[2) Slkancar Lodi
14} Bahlol Lodl
14) Khizr Khan

. Harshvardhana was defeated by

(1] Prabhakaravardhang

12} Pulakesin 11

131 Narasimhasvanma Pallava

14 Sasanka

‘Who among the following was an
itierale?

(1] Jahangr (2] ShahJahan
14} Akbar |4 Aurangazet
Which Governer General 18 as-
soclated with Doctrine of Lapee?
1) Laird Ripian

|4} Lord Dralhousde

141 Losd Benllnck

|4} Lord Curzon

. Inedist aliained ‘Domtnion Status'

]

11 15tk January, 1947
120 15th August, 1947

|41 15th Auguat, 1950

14] 15th October, 1947
DCeepoliam e posalble tn a
| 1] Umie party slate

| €] Two party siale

|5l Multi Party state

1% Twe and muhi party stale
Marx belonged to

(1) Germany (2 Holiand
(% France, i) Betain

- Which aneof the following Is the

susrdiancl Pundimeotal Rights?

(1] Legistature
[ Ebi.ocu[lw
{ Political partics

t4t dudiclary

7a Sarkicia Commission was con-

74

4.

cermed with

{1} Adminisgrative Reforma

{4 Electoral Reforme

{0 Firancial Relorms

14l Centre-Blaie relations

The Speaker of the Lok-Sabha

has o address his/her befter of

resilgnation lo

|11 Prime Mintgter of [ndla

2] President of India

13) Deputy Spenker of Lok Sabha

141 Minister of Parliamentary Al
fadrs

A wanlt hecomes 4 demand only

when 1t s hacked hy the

| b} Abdtity to purchase
(2] Necessity to buy
(3! Desdre 1o buy

(41 Uttty of the groduct

78. The terms “Micro Econcmics’

and “Macro Economics™ wers
colned Ty

{1} Alfred Marshall

|2 Rgiroer Murkse

|3 Ragner Pristh

14) J M. Keyhies

. During periots of inflavion, tax

rates should
11} bncreass
13§ remaln

14} Muctuspe

T8, Which In the biggesl tx paylng

sectar ln India?

4] Conaumer's syrplus

81, Sitver halldes are wneghin photo-

graphic plates because they s
11} cactlimedd b alp i

(2} molusbale in hyposclution

3 reduced by Jight, .

14} totally colouriess |,

3. Tetrn ethyle lead [TEL Is

{1} & catalyst in buming fosedl fuel
2] i anticxkdan -

13 a reductamt =
{4} an antknock compound
Curie point 1s the wempsmiure
ot which

11) Whatter becomes radioastve
[} A metal leses magnetic prap-
Bribeg.

13} A metal loses conductivity =

{4) Trensmuistion of metal oo
s

The imolopes used for the produc-

tkon of stomic snergy b

(1) 235 @) 1208

3 U-234 - U236

I BB The scceleration due o gravity

ai the equator
1] |5 lesa than that 8d fhe poles
|2] ln groater than ther ai the
poles
13} s equeal Lo Uhal &t the pales
14 choes ol epenid on the earthi's
centr | ac
. e {E" otig 1 o
1) Proton . [l Neuwtron
(3 Electran, (4 Prsiteon
7. The material Laed |n the manu
facture of iead pencil s
(1) Graphite (2 Lepd
(3 Carbon (4] Mica
B84, ﬂnglﬂ’l'mh_un and I.I'IEL‘OI
Pm wre T
quﬂmmhm
no al 1o uﬂq-nr
mm:zfﬁlﬂl o each other
) Momel the above

-. Wl}'ﬂﬂﬂlﬂmpﬂlﬁ
wi [T} MIPS
B ) ez
* 'O language i &
1 Lo Pl R age

1 g el language

13 MacHife el language
41 Assemb® 1A tihghinge
Bl What happens 19 a person who
receboes Lhe wromg type ol blood?
111 All the arteries constric:
- Al che arteries dbataies
{3 The RBCs agyédu tinate

14 MI and hmphristes

9. NIE stands lor
(1) Mational Infecliobs $lscases
Serminar
() Matsona | rrignion Schodul:
m%mm@mw
(4ol Information Sectur
o i all kaMets could oo he re
o Tromm gun 850 injur ol
e, il gy cause paisoning by
(L) Mergury (2] Lead
1) lron [4) Arsenhi
B4, Ringwors 18 & ... discas:
) Bacterial 2| Protusscan
(3] Viral 141 Fungal
08, Pitultany glard is sitgated in
{1} thie baae of the hear
(2] thehar of the brain
i3] the meck
4] 1he abdomen



B8, Who discovered cement?

111 Agasasil

2} Afverius Mognus

@] Joseph Aspdin

(4] Janseen
. According to RET's Report on the
irend and progress of banking.
the Non-performing Assels
INFA's} in India (or 2008-08 for
Imiciian Banks in 2008 have stood
il
11) 2.3 per cent
|2) 3.8 per cent
[3} 3.5 per cent
14} 5.2 per cent
Windaw 7, the lniesi operating
sysiem from Microsoft Corpora-

tlon haa ...
fomia.
1) 14 (2] 28
13137 [4] 48
, TRIFS und TRIMS are the h'_
asaociated with
{1 IMF 2 wTD
i3l |BRD 4] 1DA

100. # Presidential Ordinance caR

remain in force

{1} For Lthree months
12| For alx months
{3 For nlee manths
(4] Indefinitely

10L. In hmmﬂ

lﬂ%mmmw
].M.'-'I.Il'l

semi- l.I'I:ﬂIJllIJI' bﬁnmu lu
226,10 7

! 2 3
: 1 |

102 In o 100m race. Hamal defeats

Hemal by 5 secanda, If the speed
of Kamal s 15 Kmph, then the
speed of Bimal |s

11} 15.4 kemph (%) 14.5 kmph
(% 144 kmgh (4] 14 kmph

108, Atrain, 240 m long crosses 1 man

walking along the line In oppo-
slle direction at the rate of 3

kmph in 10 seconds, The speed

af the rin i
{2) 75 kmph

(1} 83 kmph
(3 B34 kangh () BE 4 kemph

104, A boatman rows | km in § min-

wies, along the stream and 8 km
in 1 hour against the stream The
speed of the stresm s

(1) Akmph {2 & kmph
(3 10kmph (4 12kmph

1
108, amm? aof & work in &

F
dmmdl!,g of the work i 10

days. In hovw many days both A

and B together can comgpletr the
wark 7

o3

{1} 1o ]

4 1
e 073

208, 7 men can complete & plece af

work dn |2 How many ad-
ﬂn:fﬂmb: ruq,:lzdm
mmm]uhzwrhmn
daya ?

K1 3 (2 21

H:M 43

ADT. Chne pige: Niks o wites tank thee |

times faster than 1
G mather pipe.

oo T
1mﬁhh :unilﬁl the

pﬁ:mnnmmm:

\".‘:

ﬂi‘lhﬂlm
(3 1 hour 48 minutes
1M 2 howrs

14 2 hour 34 minutes

O |n an examinstion, a student

scores 4 marks for every camrect
arrwer and loses 1 mark for ey
ery wrong answer. A student ai
ternpied adl the 200 questions and
scored, In all 200 marks The
number of guestions, he an-
wered WhS

correctly
1 82 (2 BO
1 &8 (&) 80
108, The average ol odd number upto
100 1
(1] 30.5 (2 50
405 (4} 49

130 If A'n income by 25% less than

B's income. by how much per

cent s B's income more than that
ol AT
1 238 2 30
i i
323 4 68y

IIL 1%+ 2 4 3 s RRE L
egual 1o
3] B0 14 ABb
13 380 ] Hpa

L11& The sixth 1erm al the segueno
L6107 Is
1) 24 w30
3 32 W 3

1% Two number are in e raw |
L1167 in added o sach ol b
numbers. the ratlo becones ¢
A The smalier number
{1 3 £ 4%
i 64 ) T

| ]

iz 1Y {
) | ittt ity S o |

14 | .'Lr. 1.! 3 S
s equal 10

2 1
e K S

ﬁl_!_i _.I:l}'".ll_.

g L 0

!ﬂs‘ﬂ when divided by |t
wainder 36, 17 the sann

-uumh:f is divided b 17 b o

malnder will be
e @
a3 4y 2
118, Simplified [omm of
i h]
 P— Ty
Hx i ] i
TR (2 yo
1
i x (4 —
x

L7, A 4-dight number s formed 1o
repeating & 2-dight mumber such
as 1515, 3737, efc. Any rwmbn
of this form s exacthy divisibl

by
7 i1l
1 A 14l
TS B0 0w Oo0d w000 = B dm gl
i

1) 100 2 T

5] 4 19

1040

3 1
18 1t AH*P-* the value ol

4 |
g
¥ E-pi 1%



[VEE ] 2 &
kA & 141 15
LR 1 prand q repeeaent dights, what |
|5 1he poasibds pasimm vahee of
i (e Atalement Spdoe 327 &
Yik= 1114 7
11} 4 ¥ 3.1
4T IR
121, The least among the [ractions
119 M 3
16'20'25°35 ®

L3

1

w
I 45

"= 12

-l
| I e furm ’;I
RS
{E1]
11

iy

¥+ s gpual do

] a1 P
(L]

e
- |. i
AESx A20-220« 05 |

T s erpral
iis

11 ﬂ]}

19 ) 10

I-
14 4 "
124 Chi ol alx ongecullve nﬂm'l
rin e, E U sy of Brat L
i 27, bl s e sum ol Lhe

nlhmmhm 7
1Y o A5
(BB So—

128 11 1.0 Pand L. C M of twg rum-
broare 12 and 336G respettively
i one of the numberns 18 84, the
olher 1
e I 48
72 A4} 46

13 1'he sum of Do miimbers 35
il Lheir PLCLF anl 0 M, are
Sand 105 respectively, The sum

f Lhe reciprocads of two ouambers
L

2 i

" 35 iadt T I
o . |
R} 15 4 __!?:

127, 1 be any naturn! mumber, then
by which largest number in'- n
by dbvisabks *

fna
[E (N A

e

i 18

138 1. Eu-zulhhlhmt—'% -]
cqual o

m%
2
= 20
138, How marnt m‘]‘hﬂlm lie
hetween 190 and 5007
ER (2 B
(e (]

ez gl

{01)? - jooyy®
QOG0

] I gl io

1) 1010

1 101 :
E18 il' I & peoflt of 308 pn the
of an artick: ih:p':.:.

w ﬂ]ﬂﬂ.ﬁdﬁn
rﬁ“{'#i t

3

e
i 100

18] 24

e a-‘*" 20

Lsd. H‘tﬁqﬂlm of 13 bochs s
" equal g the selling price bl 20
&qw&ehmh

BERIS (2 20
[ 24 (423

133, If an artieh i sold at 2006 profit.
then thie rirkio of Ha cost priceh
i meRtimg priee will b
mrig e
[T G R - FB

134 1 on o mgried price, the differ
ence of selling prices with 3 dis-
cownt of M and 1wo mcessive
discaunds of 20% and 10 1 B,
72, then the marked price fin
rupees] ]
a0 (35000
2800 14 2400

138 1 an elsciricity bl s patd belore
fdue dile, one gels i reduciion,
4% on the amgunt of the EOL
poying the b before due date a
p-:mm.ﬁ:llurnduﬂhmu.l’l’_h.m.
The areguiad of his elecircdty bl
L]
1l Re. 135 () R 225
IM Ré 225 {4 Ras 425

L H

130 Succewsive discounts of |F%
20% and 30% I8 aquivalent o o
minge discount of
[} B0% B 4955
400 e

187, The prict of an asticle was frat
increased by ] 0% and ther 2eain
lf D0 7 the last ineneascd
pricete Re 33, the original prive

‘R

(1) Re. 30 |2F Re. 27.50
13] Rm. 28.50 445 Rs. 25

188, }f ewch skde of a sgquare s in
creased by 10%: it aren will b
Increased by
1) Losy 131 E1%
1 44% |4 L0

188, The ratie of milk w’r HI

mipcures al {our
BT bl Jm;dgu i
Liwely. l-wh'm-w‘r Iﬂgﬁ’
quisnily of sk, relauve 1o wa
ter, mthum"-'f'
m mt, @ Secom
Thind 3 Fourth
140, Two: pumbers are In the 1atl |
ko elr muam ks 240, then thew
difference 1=
1 1o [ 108
13 B0 (4 96

141, The mto ol income and exponic
tumufuptrmnhll 101 e

saves fin RH Wﬂu annum, has

Mﬁf& e B 0o

3 R 8.5900 (4 Ra, 8250
1AL W, W= 2:UandW, W, -

1; Zthen Wy Wa e

a4 Wa:d

23 [LTE 381

143, A copper wire of length 36 m and
dilameter 1 mm |8 melbed Lo fonn
u aphere. The rodius of he
sphere (In cinb ls
{1325 123
13 a5 1}

144 The ratlo of the radil of twn
whysels 153 4 Theratlo of Lhe
clrenrtfrenes is
a3 [ 34

™ aiE 932

148 ﬂ!?h-nﬂh al & rectangle i= in
*‘wtﬂj N0 g 1La Brealch
Is decrepsed by 100, the chang:
Iy s aren will be
{1} 1% Incroase
2} 1% decreaze
] 108 Increase
[4} Nochanee




8. 1 how many years will 8 sum of
money  double  (taell  at

|
ﬂ;‘* simple interest per an-

rim 7
k] 24 12 20
{0 b6 4} 12

147, A sum of Ha. 12 000 deposited
# compound terest becomes
dirabibe afler 5 years. How much
will § be afier 20 yeara T
[1] R, 144,000
[4] R, 1,240,000
4 Rs, 150000
[4] Ha. 182000
Diireg Hone (148 - 1B : The ple

clurl. given here, shows the amount

al money spend on varias sports by e

school admintstration in & partkeular

BEar
Observe the ple chart and &n-

wart (e uentiona hased on this graph,

144, 11 the money fopthml
Ty q,w%:m:h more
maney was spent om hockey than
o football
) Ra. 11,000
12 Rs. 11.500
I3 Ra. 12,000
4] Ra. 12600

148, || 1he money spent o football
was Ra. 8,000, what amoun! was
spent on Crickel 7
(1} Rs. 31000
(2} Ra. 31,500
A} R 32000
14 Rs. 32,500

150, i the money spent on foothall s
B 8000, then what was the Lotal
amount spent on 2l sporta T
(1] Rs. 73,000
i2) Ra. 72,800
i3 Ra T2.500
14 Rs. 72,000

PART-D
ENGLISH
COMPREHENSION

Directions [151-189] : In the

following questions sentenices are gven
with blanks to beé fllled in with an ap

prroprise woed(s), Four slbernazives i
suggested for each question. Choose
the correct aiternative ouwl of the fous
181. The court cognisance of
the crimingl's woeds,
(1) ook made
13) gave ] alhorwrect
s wins this civil war Lthere
will e lMle rejobeing sl Ui vie-
ey,
{1 Whichever 2] Whoever
1) Whatever  14] Wherever
sa .hl‘uptc]rkr hiks beléel in i
pttaﬂ;nludbi ol
11 wikher ) shake
| waver (4] dither
IHW n this word & e
coumtsble to God . his ac

Mo,
[ aboast ﬂ'kﬁ_ar
I o 14 bﬂr
188 Your father wsed Lol s prin-
I:I'm of thiscollege,

4 docan't be ?

Directions (188 - 180) 1 In Lhe
fodlowing questiona, chocse the ward
oppoakbe iy mesrng Lo the gven wond
188, JETTISON

(1 mocepe

[# preserve

107, AMELIORATE

(1) impreae

(4 sallen
138, GROTESQUE

| 1 namral

i3 whimsical
188, DEVIOUS .

{1} straighi

(3 simple
100, EVANESCENT

{llirmminent (2 permaneni

() pervasive (4] immanent

Directioms (181 - 168] : In the
Tofboewing questions, out of the Jour al
ternalives. choose the one which st
expreasss the meaning of the given
werd.

|2 rewared
|4} comeeni

|2 degrarncl

4] worsen

|2 pdd
|4 sl

{2 obdous
141 g pzrdicind

181, DEBACLE
Liprbeciine
Lt dorendaald
LR T A R T 2]
lhdegeneratan
182 O5TRACISE
111 banzsh {21 bl
14 begule |4 besicge
183, PROTHYLACTIC
V1] sntoermistie [ Lo
(h!] preveritive ] gl i
184. CODDLE

11 husddie 12| satialy

] prodec B i
188, '1IMSY

111 R (2] Eminticesai

13 wenk |4 grartein

Dlrections (168 - 570} 11
et o N, gt 0 ikt f.ﬂl’u Wik
benee |5 privitgd ﬂibﬂ& Blow W
e alters hl.d:\'l""{ Iﬂ-'“]l“m r,'r
L0, Dbl | ke b gy s s
i r[ﬁn |y serrerd adie o
‘,lm- }nacu&é‘fﬁunnmwﬂmnu neeh |
yoar mwi.-r 1
168, T et mto the batdedisee, 11 dis.

gadme G e pone

1Th s 16y P

Lab g s v
[ s sl
' 148 Mo R THRRISS 1T ]
. Hedeped thai by bad net fargens
Y Sl Ak
LU waialel pidd o
[2) fuand ol
(8 el o e
=) Mo nrene nt
1} had played well | vl |
wy L niskch
{1 1 plivecd wekl
[Fal | |l|:'|_'|' well
E5 1am ||h:|_'.-'|n;,l vl
) S sy e e
'IH P Hi LN I|||' s 4_'I||I-1 {13 1 B
e peesihiliy o ey oot
e U csAT IO B L s
el L
aside
[N
Al i

vamnest Ju ek

1l

|4} fen T rnes i
L7 A callon i svste) generates 1
vt bk sk
11} eweloipns
) ncfuces
il jir wlurs
Il I ik



fHrections (171 - 178) : In the
Nt iguest i, ot of the [our al
aaboers, chboose the oo whdch coo
o unbtituged for the glven words/
(TR
171 O whio hides away an o shig e
abiliin e Pree passige
(b Cranposiir [2F Stokes
0 Stowavcry  [4) Shapright
1P U e vailable al ascene
|1 cirewmstanti
18] idersintive
1 inferenieal (4] suggretive
i civespected piece af gool for
T
|11 wetrdfadl
12) phidanthropy
1l hraevalence
131 rurmetile
174
{ieed lncomie or salagy
11 Ponueanwsn
UE Sliecarr
1l Perguisiie H) I’mnw
Thee aninals ol i paricul o pegian,
1) Flowa 121 Museum
4 Foi (4] Fanru
Drectiona [178-180) @ In e
frlieimy questions. growps of fous
wirds are glvep, [ earh groug. one
vl s emerestly apel. Find the cor-
vi'lly apell wond
176 (1} pamaphorrelis
[43 prerslmoidms.

175

L8 preeadiln T
14 mm
177, (1) -
2] ot
(K] (mareh
1) manembile
¥R L) nsmsel 2] wnnle
S umble (4 wable
W90, |1} popuhas () pompuans
L1 prelaoe
H pressmmplungs
180, (1) fmpromptue
18 dllistrigns
18 illsery (4} impelous-

Directions (181~ 188) : in the

uifli s rpuieatinns, The 1atand the lnst |
weenees s the passage are numbersd |

anrd 4, The test al the passage |s
syt arda four pearis and mamed P, G, R
Wil & These four parts are ool ghen
in their propee order. Reacl the fen

rie e lind out which of the Ear
combinatkons s correcl, Then lind the:
TR L HNsWer,

i emlurment cver and above

: *tﬁ.qg @n;ﬂflh: most terrible

The mest vulnerabls section
ol 1he society are the ais-
dleists, J

B Aevalullonpry | w new

Nedged [deas have 8 great
appeal to themn,

3. AgitiLions may e nen-vikent

ethods of protesl,

W They canned rested {he charm
Ol jrErsaLabon,

They arce to be taught that
withoad discipline they cannol
261 proger educabion.

- Hlonwseer I these became vio-
tenil, the antlsoclal elements
gt emcouraged and they pul
all proper werklng ol of gear.

11} PRSG (2} e

iSRRG ) RPGS

181. 1,

5

182, | Venice is a strange.clity.

F, There are about 400 odd
bridges connecting the is-
.hl:uhul'l.fenb:

“ i There are oo molgr cams. o
[uﬂumdnubulﬂum

Tiwtles of the American Civil

Wp was fought induly 1863,
al Getbysbueg.

. The chiel sprech on Lhal a¢-
caston was glven by Edward
Ewerell, a celebrated aeator,
Lincoln was psked Lo mahe o
lew pemirks
In Movember of that year a
portien of the battiefield was
dedicated as a fipal resting
place for men of both srmies
wha died there,

. Everell's speach lasted 2
houwrs. Lincaln's Tor 2 min
ules; It was over abmost be-
fure the croad rendised that (&
had hegun.

. Bul Lhe Gettyshutg speech s
ryoiw e o e o |d's knumor -
tal pheces of literature.

(11 SQRF [Z| RPGS
1 PERE (4} QPSR
184. |, The leaches inliing agency In
England 1o ke teach-
ing ane of the top three pro-
lessions

I

. Thew biwee s demmanided tha
the campaign should Gr
matched by dmproved ey
soaden wirk load and morile
80 Aa Lo avidd pecroitmean
protibems with an alm Lo fiise
the bmage ol Lhe Ledching g
feanborL.

. Aseries of adiertisements are

now being, screened shewing

[miou s peopl apeasdng atmr

Lemchers they remembies anid

achmire.

An amound of 3100 miliion

hias been set aside to combal

the shortage of applicant s lor
iescher Lralning.

Teacher Unions have wol

oreed this campalgn.

& tis hdq;h N o th |

Ler

Q. Thirkbsg absut Ifpolluies and
undérmines ihe atlitudes
meeded T sucoess

R, The seedrof sucoess mncsl o
planted afresly

5 W ocan be wsed tooenrich T
wall of yaur mind,

&, Turning Galuie bt a Ieraltee
i mocomphiahod y using you
£rTors as Seps in leaming

{1} SRQE 2 PQSR

{9 SPOR 1 gPSR

Directisns (186 - 180 | [tk
fellowing questions: 2 sentemee Fus
been ghven in Aclive Vaire/ Passlv
Valce, Out ol the fur aliermathoes sig
gesied. sebert Lhe ane which est ox
presses the game sentence in Passne
Acive Viice.

188, The agont hud disclosed he 2o
cret belore L wis evening

1 The secrer was dischesed 1w

the agent hefore it was
eveniig.

2| The secrel had dischosed by

the agend bedore W had Heen
Evesing

(W The secrel had been dischsed
tw the agent before i1 wis
everilng.

[4] The secoel was disclosed by
the mgesst before i Rad bien
cvemdng



DMrections (171 = 178 : In Lthe
foil bt epesLians., ol of the four al
Lo nitives, choose the one which can
| wabstiuted for the given wirds)
o 1L TR
171, U who frides swagy o astdp L

sl ain @ lree |assags

11| Compositor 2] Sloker

(4 Stowawny 4] Shipsrighl
173, Cigesavatlable ml b soens

{51 careumsiantial

12] cherivative

134 inferential (41 supgesiive
173, A unexperted peece of good for

i

(1} wimlfall

(& phidantlregy

|1 benrvolenoe

41 turmstlle
174, An emoliment el end abae

fixed] kneoame o palary

(1) Hesewarium

W Binecune

151 Peruslie ) W
1T Ihrmwliamw

11} Flera 13 Musem

3 Eoo 141 Fanra

[Hrections [178-180] : In he
Plbing quesibong, groups of Bour
cutils are ghen. In esch group, ong
wnpi is correctly spell Flied the cur-
recthy spelt wineed
178, 1} parapharneiia

IJ.ip-cl

:jﬁ 1) tisssel

[ tunnke

ol wmble (4] trable
T, 11 popadus [ pormpuous

|1 prretions

|4 presumpludus
180 (1] lmpromptue

T Uhasirions

9 lusery [4} iampetons.

Directions (181- 188 : In the
oiThawiing ruesticns, the 19t and the inat
sritemees ol the passage ace numbered
| und 6, The rest of the passige &
pikst o four pans and named P, 0 R
il %, These fonr parts are oot ghen
i thest proper order. Read (e sen-
e and find out which of the four
uilinations (s ceerect. Then (ind the
el ARREET.

181. 1 Thr- mosd vulnerable section
of the soolty are the sti-
tlenis, P

Revaulul ; new

fiedged (dead have o great’

appeal 1o them.

. Jygstations may be non-viclent

meihnds of protesi.

R They canmnol resist (he chaim

ol perauasion.

5, They are Lo be Laughl that
without discipline they cannol,
2t proper educklion,

. Hewgver U these become vio-
least, ltnmumnlcumnu
mrnmua‘edanﬁuq’
isll proper working osd of

11 PREG (2t RSP
I3} SRPQ (4} RPGS
182, . Venloe s n strange cily.
B There are about 400 odd
bridges connecting the is
hmm
l}.'i'ﬁhmmmm na
horses and nio buses there.
W0 onehnother. 0 0

B ul.tmtummmm-

dred isbands,

8. munmmﬂﬂhm

e

H ithe most terrible
of the American Civil

H:.I

' b ; wammm.Jumm

al Getlysiurg, .

P The chief spoech on st oc-
canie was given by Edward
Everett, o cebebrated araton

. Lincoln wies asked to make @
few remiwricn.

I Mowember of thal year &
portbon of the iitlefleb! was
dechicated as a Mnal resting

place for men of both armies
who died there.

Evercit's apeech lasted 2

| hours, Lincalw's for 2 min-

utes; | was over almost be-
Fore the crowd reabized that it
had begun,

. Basl (he Gettysburg speech is
oy e of the workd's Enmer-
1al pleves of literature.

[ SQRF (2] RPQS

(3] PERS 4] UPSR
184, |, Theleacher tralning sgency in
1o make teach-

ing one of
lesadons-

¢ top three peo-

R Mm!mmnhﬁ' ‘

P They horee also demearnded (hat
the campaign should b
matched by improved pay
scaen. work Joad and mural
50 as 1o avodd recruitmont

s with an adm Lo rlse
the lmage of Lhe teacking pro
fesalan.

. A series of acdvenisements wr
0w being screened shuwing
famenin peole apeaking ahed
{enchsers they remerober and
admére.

An amownt of 8100 millie

has been sot aside 1o combiad

L shortage of applicants I

teacher training

8, Teacher Unions have wrl
comexd (s campadgn. o

Jt i high time for the fndtn

Gowernment alaodo Lk oo
llrn]l.q.rﬂnu

EEY

Frm filbure more as o feril

Lser.

Q. Thinking about it pediutes anil
undermines the attituldes
needed For Auccess.

R. The seeda.of success must e
planted afresh

5 It cun be used Lo Enich the
sodl of yoar mibied.

&, Turndng faibure ink & fermileer
i pocomplshead by uslog yisi
BTTORS AR S1eps I rarming

{1} SRQR (2 PRSR

(3} SPOR (4] QPSR

Dirsctions (186 - 180} : In the

following questons, a sentence has
besn ghven In Active VoloeFassho
Wolee, Ol of the (our allermstives sy
gested, select Lhe ane windch best ex
presaes the same sentence in Pagsioe
Active Volce,

188, The agendt had disclosed the =

eret before W wag svening,

{1} The secret was disclsed] 1y
the agent hefore il was
errilng.

{2) The secred had disclosed by
the ggent bedore W bad bren

evening.
(3 The secret had been disclosd
b the agenl before i@ was

] The secret wis dlsclosed Ty
the agent before it had been
evening.




7. Surely the lost child must have

lseeny Boasnid lay now.,

(1] Surehy must have found the
Tesl child by s,

() Surely someone must have
Toumed the st child by mow.

14 Surely now must have fend
the loat child

(4] Mew et haver Townd thee sl
child surely.

We serve hol meals (] 10.30

guests can order, coflee and

sandwiches upio 11,90,

(1} Hot meals are serving Ll
1020  eolfee and sand-
wiches are ordering by guesis
[ I v

(2] ol meas are Leing served Ul
1030 | colfes gnd sand-
wiches are being ordered tl'll.
1 1-3ik

IM Hol meals are served 4l
140,30, coffes and ches
sty e oedered ull 11030,

(4] Hot meals will be served |
10,30 coffee and san
will be orcdered upto 1130,

Lax lace-down: streteh your arins

i Eeond.

158,

LE] Your are (e down, arms are
o be curlatreiched

[ Yo should be bying face dewt.
with arm wtul.n:tchsd

179 You shiould be bying face downy: 1
lel arma Mr!lt&ﬂ

|1er:cb-: H‘.
i mm

gtl thai the

I]I h wal ru
Creeks'w ‘win he Inler-
Cnatlonid trophy

! ﬁl The inderniaunnal trophy was
'E'F:pﬂ el fo be won by the
Girechs

I3 1 was expecied thal the

Greels will win the inlema-
tional tropiey.

18] 1t s expected by the Greeka

Uhunt they would win the nter
natiomal oy,

Directiona (191-188) : In the
lillwisg questhons, you haye one bried
iwmsage with 5 questions felloutng tie
jissage. Read the passage carsfilly
anit choose the best answer to each
iibeaniony dait of fhe Bar allernatives,

In May 19480, the Workd Health
Cirganisaitien was Aillorissd o inftlate
a global campeign to-sradicate small-

puc. The goal was to-eradicate the dis
ease [0 one decade, Because simdiar
projects for malaria and yellow fover
hiad lalled. few bellsved that smallpox
could actually be eraclicated, bul cleven
years aller the initlal organisation of
the carmpaign, no cases were repartead
in the fi=ld.

The slrategy was not enly 1o pro-
vide mass vaccinatons. Bul also (o
Isoate patients with ictve small-pox in
order to coraln the spread of the dis-
caac and (o break the chain of human
tranamisalon. Rewards for rejporiing
emall-pox assisted in motivatlng the
pubdic to axd health workers. One hy
one, each small- pest victim was sought
wul, removed from contaot with others
and iréuled. At the same Ume, the en
tire, village where the wiclm had lved
WAS VB HaLed,

Tﬂ'iﬂ‘mll -pox ks no longer 3
ﬂﬁuwwmw Rouline vaccina-

Y
,,lll- e lhr-‘uprrud af
ﬁm} = amall. pmz wnrkd-

. wide in ten years

13 To provide maas vaccinations
 agadrist sersall-pos worldwile
14 To inttiateworldwide projedis
for mmall-pox. makada and
o v ryeliows fever it the same Lime.
188, Accordingtothe paragranh whai
was Lhe strategy used fo eHiml-

nate thre-sqread of amill-pox 7
{8} Vaccnation of Lhe sntire vil-

lage
(3 Treatment ol Edbvicual we
tims.

.0 Tsabation of vietims nd s

vacrinalions
4 Extenabve reporiing of gl
breaks.

184 Which slalemend doesn | ovefor us

sl e

(1} Previous prodects had (ailed,

[2} People are no nger vaco
naded for it

(3} The Worid Health Orgarusidion
mounled & workdwide cam-
palgn lo eredicats the disease.

14l M was a serious threnl

10

| 1898, [t cam B inferred that
11 noe new cases o smndl |
have hesn repaodted Lhis
12] rmalaarsa dned yellow Beves b
Ligen ellmiimited,
134 nmabl-paw viclma oo longn
die when they contes 11
dintase
4 agnall-pas &5 nol transmilio
[rom one [#rson L s
Directions [ 188 204 : ~om |
the senfences have erroms and «
have none, Find out wibch parn of o
sefilence has an error. The il ol
that part ks your angwer I ehene o
ETTOI, YOUF arswer s (),
198, Judge in ami1) [.-m-a.lb.u
the [ther (20, and he s

mmm% R L IR T |
o i T2 L
tﬂpk]}h" Lo sk dal Bl
g Cerpa (4]
HDU!EJF\!HHWHH i) i
& ahout 12 o recongliatiog 1
" Mo error (4]
200, Therow coarlblons [ L1 coli) |
growing (2l phuats are sull

peratuie, chempral Db
amesam of molstore 3 S
row (3
| ANSWERS !
LIy ) sw| 4 |
NEEIEIRY
L TR I
150 W0 OB %]| 16 0
FURTN TS TN R
TR AR AR
an @[ sl an | ae
20030 | B0 ] L | 3R
28 0] s [ Esar] a6 ) |
EAaETETNE T
WL a2 | a3 | een
EE TR e
48, (%] 50.(1 ] BL iz | B2
BR[| 84,91 8803 | Be)
87,0 o8 @] se i | el
£ l_'m. M-I
BE (4| e8| 67 (% | BB |
6. (2| 7O TR LN TR




7k (4

T4 15

TH | T84

FENE

78. (2]

TR (1| 803

Hil .1|
H-ﬂ.llr

B

L

B8, 4]

8701 | 88, (1]

|

| B® 12}
! u..!.|‘.|
W, IH

B0, i

0L | 8. 4]

ﬂ. L]

H.ﬂ]

o002 | 98 )

e

. (2 1100, (2

AL |1} | B0 1)

104 i

166 124 | L& 1

107. i3

106, (21| 110, 13}

L)

TEA (2

114 1)

118, 18

LI 14| VLA 14

110

121,12}

LR 1)

123

143, ()

128, 1

127,08

129. (3 | 130 14|

1313

133
LAT. 140

,__"ﬂ 3. 12
130, iy | 1
=

1AL 4}

iﬂ.ﬂi

148 (24 ] 1ea. 1)

147, 4

149, (3 | 160, 14|

18 (1

153 11}

L84, 2|

184 (4

157 141 | 188, 1]

198, (1)

1612 | e

183, (%)

L8, (9

108, 13|

187, (4

l“.[lb

188, (4) |

161 (1) | 48

L

| Piabni

Wesd

W

Thies heatinee of Rowy b in South-East Yawe
direction with respect to (e |

North

South

hease of Babu

i

k 10K MME!
NE Tﬂ“[: :’ A
2 |
East 4 |
o Sumilarty,

Chandra an
ABC: BCD ©
F | T

F E D
13 (3] Excepn Veramia. all others s
avirroaen died by foir walls
13 14} Except Somati, all otheis

4. (1} Flexdble (& antomyin of Rigd.
similacly, Confidence ts antonym, | 18- 3
of DHfidence 4 A i
H-I?i R Al ——aN— L
4 ] ril i
AEC X—FBY O W P s E =l
|I sl T T R'—-‘-‘-E-"'P—-t-‘iﬂ—"l +4
fl T S T
3 i Il-l-ﬂiF.l:.'q inApgrl nalioh
] g anct the lust il
Similarty, "I‘E‘I‘i!ll-'l Capllal ore Vowels
17. 4]
Hd o=l P KRN BeZeBdedal=g 7l
| *‘TT 3 ombd ATl
=1 Bodm Q26 Se |1 18- 01
ol w |
. ddBe B+ Twld e j2- 44

; ‘m s been shown. Fox s nstrumenis. Sonata lsa plece o

charactentsed by its cunningness.

Strslare: Bbhi i considored s ment oF two.

thmid » o 1 L4, [ Excepl D, all wihers are Vow
ets,

muske composed for ane lnstro

.



18 441 49 - 33 = [6; G2 - 48 = i
Bi-67 =16
Bul
T0 <« 65 = 15
19,40 6+ B= 414+ [Ex2 s 30
Tolmll |2+ Bndnd
20, {2 Meaningful order of the words
3 Member — | Family - 1. Com-
mundty —+ 4. Locality — 4, Coun-

iry
21, |3} Arcangement of words accord:

Ing to Ddcticnary :

3. Toronte — 3. Terped —

5. Torsel -+ |, Toriolse — 4. Torus

2. 1) [a]a[b] ataaba/ [aa]
ba/[a]ab[a]

H.l’ﬂﬂm-:anhnlhﬁnlthglb
FiEs
P S

i3 s —L
Therefore, 7 » ul |
.

=3

"
¥ L]

+5

P By

L

T

-'»-u-—-H—---H—u--H——-*G

B g 2y

| —2k- ——*D —nl—-n—il,l

TE

Now. p__10_

——

,_.E’._,,_..ﬁ:*.l .

BRI 2324111 =343

3+ 111 =484

aff
mq-m.
B854+ 111l =876
The nuammber 564 does nol belong
o the seres.
20, (2} Suppase there were 1 fassen-
g inkiafly -
Number ol passengers afier firsi
L1 =
m.%-rﬂ-ﬁ
Number of passengers afller sec-

mw.m[-dn]‘m 80

Il.!ﬂ&upputmrmﬁﬂ'-

L

#00 |8 £ years,

'mm- ﬂm ;j'uml:* of the fa-

.11 First Premise ks Universal
Migative (E-rysel.
Second Premise is Universal
At [A-Lype).

K cow 5 chale.,

All chtirs jire talides,
E=«A=0 -lypeof Conclusivn
“Some Lables are not cows
Concluaion 1 Is Converse 1! il
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